

Sun's Binomial Inversion Formula

¹A. Lucas-Bravo, ²J. López-Bonilla and ²S. Vidal-Beltrán

¹UPIITA, Instituto Politécnico Nacional, Av. IPN 2580,
 Col. Barrio la Laguna 07340, CDMX, México

²ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738 CDMX, México

Abstract: We study some particular cases of the Sun's binomial inversion algorithm.

Key words: Stirling numbers - Binomial inversion - Bernoulli and Fubini numbers

INTRODUCTION

If we consider the binomial expression:

$$F(n) = \sum_{k=0}^n \binom{n}{k} f(k) - \lambda f(n), \quad n \geq 0, \quad (1)$$

Then Sun [1, 2] obtained the corresponding inversion formula:

$$f(n) = \frac{1}{n+1} \sum_{k=0}^{n+1} \binom{n+1}{k} F(k) B_{n+1-k}, \quad \lambda = 1, \quad (2)$$

$$f(n) = - \sum_{m=0}^n \binom{n}{m} F(m) \sum_{k=0}^{n-m} \frac{k!}{(\lambda-1)^{k+1}} S_{n-m}^{[k]}, \quad \lambda \neq 1, \quad (3)$$

Involving Bernoulli and Stirling numbers [3-6].

We can give a simple deduction of the case (2), in fact, we know the relation [7]:

$$\sum_{k=m}^n \binom{n}{k} \binom{k}{m} B_{n-k} = \binom{n}{m} (B_{n-m} + \delta_{n-m,1}), \quad n \geq m \geq 0, \quad (4)$$

Thus:

$$\sum_{m=0}^n \sum_{k=m}^n \binom{n}{k} \binom{k}{m} B_{n-k} f(m) = \sum_{m=0}^n \binom{n}{m} B_{n-m} f(m) + \binom{n}{n-1} f(n-1),$$

Therefore:

$$n f(n-1) = \sum_{k=0}^n \binom{n}{k} \left[\sum_{m=0}^k \binom{k}{m} f(m) - f(k) \right] B_{n-k},$$

In agreement with (1) and (2) for $\lambda = 1$.

Now we shall study the case $\lambda = -1$, hence from (3):

$$f(n) = \sum_{m=0}^n \binom{n}{m} F(m) \sum_{k=0}^{n-m} \frac{(-1)^k k!}{2^{k+1}} S_{n-m}^{[k]}, \quad (5)$$

Corresponding Author: J. López-Bonilla, ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 4, 1er. Piso, Col. Lindavista CP 07738, CDMX, México. E-mail: jlopezb@ipn.mx

But we have the identity [2-4, 8-11]:

$$\sum_{k=0}^N \frac{(-1)^k k!}{2^{k+1}} S_N^{[k]} = \frac{1-2^{N+1}}{N+1} B_{N+1}, \quad (6)$$

Then (5) implies the following inversion formula:

$$f(n) = \sum_{r=0}^n \binom{n}{r} \frac{1-2^{r+1}}{r+1} F(n-r) B_{r+1}, \quad (7)$$

Which is equivalent to (2) if $\lambda = -1$. For example, in [6] is the property:

$$2[n + (-1)^n B_n] = \sum_{k=0}^n \binom{n}{k} (-1)^k 2^k B_k + (-1)^n 2^n B_n, \quad (8)$$

With the structure (1), thus (7) implies the relation:

$$(-1)^n 2^{n-1} B_n = \sum_{k=0}^n \binom{n}{k} \frac{1-2^{k+1}}{k+1} [n-k + (-1)^{n-k} B_{n-k}] B_{k+1}, \quad n \geq 0. \quad (9)$$

Now we shall consider the case $\lambda = 1$; for example, (8) can be written in the form:

$$2[n + (-1)^n (1 - 2^n) B_n] = \sum_{k=0}^n \binom{n}{k} (-1)^k 2^k B_k - (-1)^n 2^n B_n,$$

Then (2) allows deduce the identity:

$$(-1)^n (n+1) 2^{n-1} B_n = \sum_{k=0}^{n+1} \binom{n+1}{k} [k + (-1)^k (1 - 2^k) B_k] B_{n+1-k}, \quad n \geq 0. \quad (10)$$

The Namias expression [6, 12-16] has the form (1):

$$2(1 - 2^n) B_n = \sum_{k=0}^n \binom{n}{k} 2^k B_k - 2^n B_n,$$

Thus from (2):

$$n 2^{n-2} B_{n-1} = \sum_{k=0}^n \binom{n}{k} (1 - 2^k) B_k B_{n-k}, \quad n \geq 1. \quad (11)$$

In [4] we find the relation:

$$\frac{2(2^n-1)}{n+1} = \sum_{k=0}^n \binom{n}{k} \frac{1}{k+1} - \frac{1}{n+1}, \quad (12)$$

Hence (2) implies the identity:

$$\sum_{k=0}^n \binom{n}{k} \frac{2^k-1}{k+1} B_{n-k} = \frac{1}{2}, \quad n \geq 1. \quad (13)$$

Similarly [4]:

$$\frac{1-(-1)^n}{n+1} = \sum_{k=0}^n \binom{n}{k} \frac{(-1)^k}{k+1} - \frac{(-1)^n}{n+1}, \quad (14)$$

Then from (2):

$$\sum_{k=0}^n \binom{n}{k} \frac{(-1)^{k-1}}{k+1} B_{n-k} = (-1)^n, \quad n \geq 1. \quad (15)$$

For the case $\lambda = 0$:

$$F(n) = \sum_{k=0}^n \binom{n}{k} f(k), \quad (16)$$

and (3) gives the well-known inversion [4, 17, 18]:

$$f(n) = \sum_{m=0}^n (-1)^{n-m} \binom{n}{m} F(m), \quad n \geq 0, \quad (17)$$

Where we applied the property [4]:

$$\sum_{k=0}^N (-1)^k k! S_N^{[k]} = (-1)^N. \quad (18)$$

If $\lambda = \frac{1}{2}$ then from (3):

$$f(n) = 2 \sum_{m=0}^n \binom{n}{m} F(m) \sum_{k=0}^{n-m} (-1)^k k! 2^k S_{n-m}^{[k]}, \quad (19)$$

But we have the Fubini numbers [11, 19-21]:

$$a(r) \equiv \sum_{k=1}^r k! S_r^{[k]} = \sum_{q=0}^r (-1)^{r-q} q! 2^q S_{r+1}^{[q+1]} = \frac{(-1)^r}{2} \sum_{k=0}^r (-1)^k k! 2^k S_r^{[k]}, \quad r \geq 1, \quad (20)$$

That is, $\{a(0), a(1), a(2), \dots\} = \{1, 1, 3, 13, 75, 541, 4683, 47293, \dots\}$, thus (19) implies the binomial inversion formula:

$$\frac{1}{2} f(n) = F(n) + 2 \sum_{m=0}^{n-1} (-1)^{n-m} \binom{n}{m} F(m) a(n-m), \quad n \geq 0. \quad (21)$$

Finally, for $\lambda = 2$ the expression (3) gives the relation:

$$f(n) = - \sum_{m=0}^n \binom{n}{m} F(m) \sum_{k=0}^{n-m} k! S_{n-m}^{[k]},$$

Where we can use (20) to deduce the inversion:

$$-f(n) = F(n) + \sum_{m=0}^{n-1} \binom{n}{m} F(m) a(n-m), \quad n \geq 0. \quad (22)$$

REFERENCES

1. Zhi-Hong Sun, 1995. A supplement to a binomial inversion formula, J. Nanjing Univ. Math. Biquart., 12(2): 264-271.
2. Sándor, J. and B. Crstici, 2004. Handbook of number theory. II, Kluwer Acad. Dordrecht, Netherlands.
3. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London.
4. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore.
5. López-Bonilla, J., G. Sánchez-Meléndez and D. Vázquez-Álvarez, 2019. Bernoulli and Euler numbers in terms of Stirling numbers of the second kind, European J. Appl. Sci., 11(4): 6-7.
6. López-Bonilla, J., J. Morales and G. Ovando, 2020. On the Namias and Tuentler identities for Bernoulli numbers, African J. Basic & Appl. Sci., 12(1): 15-17.
7. Dolgy, D.V., D.S. Kim, J. Kwon and T. Kim, 2019. Some identities of ordinary and degenerate Bernoulli numbers and polynomials, Symmetry, 11: 847-860.
8. Boyadzhiev, K.N., 2009. Exponential polynomials, Stirling numbers, and evaluation of some gamma integrals, Abstract and Applied Analysis ID 168672.
9. Bhargava, S. and C. Agida, 1983. A simple proof for finite double series representations for the Bernoulli, Euler and Tangent numbers, Int. J. Math. Educ. Sci. Technol., 14: 652-654.
10. Halzer, 1987. Ein duplikationstheorem für die Bernoullischen polynome, Mitt. Math. Ges. Hamburg, 11(4): 469-471.

11. Cruz-Santiago, R. And J. López-Bonilla, 2020. On a combinatorial relation for Stirling numbers, *African J. Basic & Appl. Sci.*, 12(1): 1-2.
12. Namias, V., 1986. A simple derivation of Stirling's asymptotic series, *Amer. Math. Monthly*, 93(1): 25-29.
13. Deeba, E.Y. and D.M. Rodriguez, 1991. Stirling series and Bernoulli numbers, *Amer. Math. Monthly*, 98(5): 423-426.
14. Bucur, A., J. López-Bonilla, J. Robles-García, 2012. A note on the Namias identity for Bernoulli numbers, *J. Sci. Res. (India)*, 56: 117-120.
15. López-Bonilla, J. And V. Ortiz-Cadena, 2017. A note on the Song's identity for $(2n)$, *Prespacetime J.*, 8(1): 90-92.
16. López-Bonilla, J., J. Morales, G. Ovando, 2020. Nishimura's identities involving Bernoulli numbers, *African J. Basic & Appl. Sci.*, 12(1): 3-5.
17. Riordan, J., 1968. *Combinatorial identities*, John Wiley and Sons, New York (1968).
18. Zhi-Hong Sun, Invariant sequences under binomial transformation, *The Fibonacci Quart.*, 39(4): 324-333.
19. Comtet, L., 1974. *Advanced combinatorics. The art of finite and infinite expansions*, D. Reidel, Dordrecht, Holland.
20. Boyadzhiev, K.N., 2005. A series transformation formula and related polynomials, *Int. J. Math. Sci.*, 23: 3849-3866.
21. Ai-Min Xu and Zhong-Di Cen, 2014. Some identities involving exponential functions and Stirling numbers and applications, *J. Comput. Appl. Maths.*, 260: 201-207.